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Grade 4 Math Worksheet: Addition (Difficulty Level: Advanced)

Name:
Date:

Part 1: Add the following 5-digit numbers

34,579 + 29,168 =
18,932 + 27,631 =
46,789 + 58,647 =
13,825 + 23,690 =
92,467 + 38,359 =

a b=

Part 2: Add the following 6-digit numbers

1. 908,496 + 674,597 =
2. 789,098 + 563,889 =
3. 674,901 + 786,990 =
4. 778,698 + 667,709 =
5. 889,007 + 656,890 =
6. 556,908 + 889,456 =
7. 566,890 + 990,675 =
8. 459,431 + 896,788 =
9. 783,698 + 780,290 =
10.677,899 + 896,612 =

Part 3: Word Problems Set
Solve the following word problems:

1. A factory produced 345,678 toys in the first half of the year and 456,789 toys in
the second half. How many toys did it produce in total?
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. A city's population grew by 567,890 people in one year and by 678,901 people
the following year. What is the total population growth over the two years?

. A farmer harvested 234,567 kilograms of apples and 345,678 kilograms of
oranges. What is the total weight of the fruits harvested?

. Alibrary added 123,456 new books in the first expansion and 234,567 books in
the second expansion. How many new books did the library add in total?

. A company earned a revenue of 456,789 rupees in one financial year and
567,890 rupees in the next. What is the total revenue over these two years?

-BE THE CHAMPION!--



